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S.Thomas’ College – Gurutalawa 

              GRADE:- 11         MATHS 

 

gq;F re;ij  (share market) 

nfhOk;G tpahghug; nghUs; ghpkhw;wk;. 
ekJ ehl;by; tzpf eltbf;iffs; 2007 k; Mz;bz; 7 k; ,yf;ff; fk;gdpr; rl;lj;jpd; fPo; gjpT 
nra;ag;gl;l fk;gdpfs; mlq;Ffpd;wd;. 
gjpT nra;ag;gl;l fk;gdpapd; chpik xU jdpahsplk; my;yJ gy jdpahl;fsplk; ,Uf;fyhk;. 

 tiuaWj;j jdpahh; fk;gdpfs; 

 tiuaWj;j nghJf; fk;gdpfs; 

 
gq;Ffis nfhs;tdT nra;tjw;Fk; tpw;gid nra;tjw;Fkhd trjpfs; nra;ag;gl;Ls;s ,lk; gq;F 
re;ij vdg;gLk;. 
gq;Ffs; 
fk;gdpapd; njhlf;f %yjdj;ij Xh; myfhff; fUjp mjid rkkhfg; gphpf;Fk; NghJ mjpy; xU 
gFjp gq;F vdg;gLk;.  
xU Fwpj;j fk;gdpapd; gq;Ffisf; nfhs;tdT nra;j KjyPl;lhsUf;F mth; ngw;w gq;Ffspd; 
vz;zpf;iff;F tpfpj rkkhf mf;fk;gdpapd; chpik fpilf;Fk;. 
gq;FfSf;fhd gq;fpyhgk; 
gq;Ffisf; nfhs;tdT nra;j gq;Fjhuh;fSf;Ffhf fk;gdpapd; ,yhgj;jpy; tUkhdkhf toq;Fk; 
njhif gq;Fyhgk; vdg;gLk;. 
gq;F re;ijf; nfhLf;fy; thq;fy;fs; 
gq;F re;ijapy; gl;baw;gLj;jg;gl;l fk;gdpfs; khj;jpuk; nfhLf;fy; thq;fy;fis Nkw;nfhs;s 
KbAk;. 
Kjd;ikr; re;ij  
xU Fwpj;j fk;gdpapy; gq;Ffis mwpKfQ; nra;Ak; njhlf;f tpiyapd; fPo; KjyPl;lhsh;fs; 
gq;Ffisf; nfhs;tdT nra;Ak; re;jh;g;gk; Kjd;ikr; re;ij vdg;gLk;. 
Kjd;ikr; re;ijapy; gq;Ffis nfhs;tdT kl;Lk; nra;ayhk;. 
Jizr; re;ij (re;ij tpiy ) 
gq;fpw;fhd Nfs;tpw;Nfw;g gq;FfSf;Fk; Gjpa tpiy Vw;glyhk; ,t;tpiy Jizr; re;ij vdg;gLk;. 
Jizr; re;ijapy; KjyPl;lhsh;fs; jk;kplKs;s gq;Ffis tpw;gid nra;aNth> Gjpa gq;Ffis 
nfhs;tdT nra;aNth KbAk;. 
 
%yjd ,yhgk; 
xU fk;gdpapd; gq;Ffis mwpKfQ; nra;ag;gLk; tpiyf;F my;yJ re;ij tpiyf;F nfhs;tdT 
nra;Ak; NghJ mt;tpiyahdJ xU gq;fpd; nfhs;tpiy vdg;gLk;. 
gq;Ffis re;ij tpiyf;F tpw;Fk; NghJ mt;tpiyahdJ xU gq;fpd; tpw;gid tpiy vdg;gLk;. 
%yjd ,yhgk; 
tpw;gid tpiy  >  nfhs;tdT tpiy 
%yjd ,yhgk; =  gq;Ffspd; tpw;gid tpiy  - gq;Ffspd; nfhs;tpiy 
%yjd el;lk; 
tpw;gid tpiy  <  nfhs;tdT tpiy 

%yjd el;lk;  =  gq;Ffspd; nfhs;tpiy - gq;Ffspd; tpw;gid tpiy 
01) xU Fwpj;j fk;gdp nghJ kf;fSf;F toq;fpa 50 000 gq;Ffspy;xU KjyPl;lhsh;  

2 000 gq;Ffis nfhs;tdT nra;jhh.;  

i. mth; gq;Ffis nfhs;tdT nra;jikahy; fk;gdpapy; mth; ngw;w chpikia gpd;dkhfj; 
jUf. 

ii. mth; fk;gdpapy; vd;d rjtPj chpikiag; ngWthh; vdf; fhz;f. 
 

02) ejpah fk;gdpapd; %yjdkhfTs;s &. 50 000 000 I xU gq;F &.100 tPjk; e];hpah 10 000 
gq;Ffis nfhs;tdT nra;jhh;. 

i. fk;gdp nghJ kf;fSf;F toq;fTs;s gq;Ffspd; vz;zpf;if ahJ? 
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ii. e];hpah fk;gdpapy; KjyPL nra;j njhifiaf; fhz;f. 

iii. e];hpah fk;gdpapy; vd;d rjtPj chpikiag; ngWthh;. 
 

03) jkd;dh fk;gdpapd; &. 25 tPjkhd 1 000 000 gq;Ffisg;  nghJ kf;fSf;F  toq;Ffpd;wJ. 
mg;gq;Ffis Mz;L gq;fpyhgk; xU gq;fpw;F &. 4 MFk;. mf;fk;gdpapy; uk;gh 50 000 
gq;Ffis nfhs;tdT nra;jhh;. 

i. fk;gdpapd; %yjdj;ijf; fhz;f. 

ii. uk;gh fk;gdpapy; KjyPL nra;j njhifiaf; fhz;f. 

iii. uk;ghTf;F Mz;LNjhWk; fpilf;Fk; gq;Fyhgk; tt;tsT? 

iv. uk;gh ngw;w gq;Fyhgj;ij mth; KjyPL nra;j njhifapd; rjtPjkhff; fhl;Lf. 
 

04) xU gq;fpw;F &. 5 Mz;L gq;fpyhgj;ij toq;Fk; fk;gdp xd;wpd; xU Fwpj;j vz;zpf;ifahd 
gq;Ffis xU gq;F &. 50 tPjk; ];Nuah nfhs;tdT nra;jhh;. mth; mk;KjyPl;bypUe;J 
Mz;L gq;Fyhgkhf &. 20 000 I ngw;whh;. 

i.fk;gdpapy; ];Nuah itj;jpUe;j gq;Ffspd; vz;zpf;ifiaf; fhz;f. 

ii.gq;Ffisf; nfhs;tdT nra;tjw;F KjyPL nra;j njhif vt;tsT? 
 
 

05) NrJ fk;gdpapd; &.10 ngWkjpahd gq;Ffis thq;Ftjw;F &.70 000 I KjyPL nra;j 
ekpjhTf;f &. 21 000 tUl gq;Fyhgkhff; fpilj;jJ. 

i. mth; gq;Ffspd; vz;zpf;if ahJ? 

ii. mtUf;F xU gq;fpw;F fk;gdp toq;fpa gq;Fyhgk; vt;tsT? 
 

06) xU gq;fpw;F Mz;L gq;fpyhgkhf &.8 I toq;Fk; jD\; fk;gdpapd; re;ij tpiy &. 25 
MfTs;s 5 000 gq;Ffis itj;Js;s re;jpah tUl gq;Fyhgj;ijg; ngw;w gpd;dh; 
mg;gq;Ffis re;ij tpiy &.30 MfTs;s re;jh;g;gj;jpy; mjid tpw;fpwhh;. 

i. mth; ngw;w gq;fpyhgk; vt;tsT? 

ii. Mth; ngw;w %yjd ,yhgj;ijf; fhz;f. 

 

01. xU epkplj;jpw;F 5𝑙 vDk; tPjj;jpy; jhq;fp xd;wpw;F ePu; epug;gg;gLfpwJ jhq;fp 12 nrf;fdpy; 
epuk;Gk; ePupd; msT ahJ? 
 

02. gpuNjr rigf;F cw;gl;l fl;lk; xd;wpw;F Mz;L tupahf 8% mwtplg;gLfpwJ. mf;fl;lj;jpw;F 
fhyhz;L tupahf &. 320 nrYj;jg;gl;lnjdpd;> mjd; Mz;Lg; ngWkhdj;ijf; fhz;f. 

03. fhuzpg;gLj;Jf. 8x2 -18  

 
04. 3 – x < 7 vDk; rkdpypia jpUg;jp nra;Ak; kiw epiwnaz; jPu;Tfis vOJf. 

 
05. x + y = 5, xy = (-2) vdpd; x3 + y3 ,d; ngWkhdj;ij (x + y)3 ,d; tupitf; nfhz;L fhz;f. 

 

06. #j;jpuk; y = 
𝑟

1−𝑟
 y; r I vOthahf khw;Wf. 

 
07. mx + y = 5 vDk; Neu; Nfhl;il (0> -3) vDk; Gs;sp jpUg;jp gLj;JfpwJ. vdpd; m ,d; 

ngWkhdj;ijf; fhz;f.  
 

08.    RUf;Ff.       
3

2(2𝑥−1)
 + 

1

2(2𝑥−1)
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09. xU Fwpj;j Ntisapd; 
1

3
 Ir; nra;J Kbg;gjw;F 8 kdpju;fSf;F 6 ehl;fs; Njit. kPjp 

Ntiyia nra;J Kbg;gjw;F 12 kdpju;fSf;F vj;jid ehl;fs; vLf;Fk;? 
 
10.   tphpj;njOJf. i) ( x + 5 )3 

   ii)   ( 2x – 3y )3 

 

11. RUf;Ff. 
1

𝑎
 −

1

2𝑎
 

 

12. xUthpd; Mz;L tUkhdj;jpy; &. 500 000 w;F thptyf;fspf;fg;gl;ls;sJ. mLj;j &.500 000 

w;F 6% thp mwtplg;gLfpwJ. &. 800 000 mz;L tUkhdj;ijg; ngWk; xUth; nrYj;j 

Ntz;ba tUkhd thpiaf; fhz;f. 

 

13. &.15000 ngWkjpahd nghUSf;F 11%  Vat thp mwtplg;gl;lJ vdpd; thpAld; nghUspd; 

ngWkjpiaf; fhz;f.  

 

14. ax2 , abx , bx2 vd;gtw;wpd; ngh. k. rp iaf; fhz;f.  

 

15. xOq;fhd gy;Nfhzp xd;wpd; mff; Nfhzk; xd;wpd; gUkd; 1350 vdpd; mjd; gf;fq;fspd; 

vz;zpf;ifiaf; fhz;f. 

 

 

 

16. x = -3, y = 5 vdpd; 2𝑥2 - y ,d; ngWkhdj;ijf; fhz;f. 

17. fhuzpg;gLj;Jf. 2x2 + x -1  

 

18. 8 kdpjh;fs; 12 ehl;fspy; nra;J Kbf;Fk; xU Ntiyia 4 kdpjh;fs; vj;jid ehl;fspy;  

nra;J Kbg;gh;? 

19.  #j;jpuk; L = a + ( n – 1) d ,y; n I vOthahf khw;Wf. 

20.   A,B vDk; ,U njhilfspy;  n(A) = 67, n(B) = 56,  n(A∪)= 81 Mapd; n(A∩B) iaf; fhz;f. 

 

01) jh;rPyd; 500  mg;gps;fis  thq;fpdhd;.  mjpy; 1:5 gq;F gOjile;J tpl;ld. vQ;rpa ey;y 

goq;fspy; 3:4 gq;if tpw;whd;. vQ;rpa goqf;isj; jd; mayth;fSf;Fg; gq;fpl;L toq;fpdhd;.  

i) mtd; thq;fpa goqf;spy; gOjilahj eyy; goq;fspd; gpdd;k; ahJ? 

ii) mtd; tpww; goq;fspd; vzz;pf;if KOtjd; vd;d gpd;dkhFk;? 

iii) jd; maytUf;Fg; gq;fpl;l njhif KOtjd; vd;d gpd;dkhFk;?; 

iv) xU mg;gps; goj;ij &.60 tPjk; tpw;whh; vdpd; mtUf;F tpw;gidahy;  fpilj;j gzk; ahJ? 

v) mtUf;F tpwg;idahy; &.3000 ,yhgk; fpilj;jJ vdpd; mth; xU mg;gps;  goj;ij thq;fpa 

tpiy ahJ? 
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02) tpUe;njhd;wpy; fye;J nfhz;l 80 Ngupy; mgg;k; rhg;gpLk; ngz;fs; 25 Nguhthh; mg;gk; 

rhg;gpLNthh; 40 Ngh; mg;gk; rhg;gplhj ngz;fs; 10 Ngh; vdpd>; 

 i) ,jid ntdt;upg;glj;jpy; Fwpj;Jf; fhl;L;f. 

 ii) mg;gk; rhg;gpLk;  Mz;fs; vj;jid Ngh;? 

iii) tpUe;jpy; fye;J nfhz;;l Mz;fs;  vj;jid Ngh;? 

iv) tpUe;jpy; fye;J nfhz;l xUth; vOkhwhfj; njupT nra;ag;gl;lhy; mg;gk;  rhg;gplhj Mzhf 

,Ug;gjw;fhd epfo;jfT ahJ? 

 

03) njd;de;Njhg;G xd;wpy; thuj;jpw;F xU Kiw Njq;fh;fs; gwpf;fgg;Lfpdw;J. 50 thuq;fSf;Fhpa 

jfty;fs; ml;ltizapy; fhl;lgg;l;Ls;sd.  

 

  Njq;fhaf;spd; vz;zpf;if    gwpf;fgg;l;l jlitfs; 

50–100       2 

100–150       5 

150–200       9 

200–250          15 

250–300       9 

300–350       7 

350–400       3 

 

(,q;F 100 – 150 vd;gJ 100 my;yJ 100 ,Yk; $baJ Mdhy; 150,Yk; Fiwe;jJ vdg;jhFk;)      

,j; juTfspdbg;gilapy;  

  

  

i. thunkhd;wpy; gwpf;fg;glj;jf;f mjp$ba Njq;fhaf;spd; vz;zpf;ifahf ePH fUjj;jf;f 

ngWkhdk; ahJ?   

ii. MfhutFg;ghapil ahJ?   

iii. gwpf;fgg;l;l Njq;fha;fspd; ,iliaf; fhz;f?     

iv. xU tUlj;jpy; 52 thuq;fspUf;fpd;wJ vdf; nfhz;lhy; 2 tUlq;fspy; gwpf;fg;gLk;        

Njq;fha;fspd; vz;zpf;ifiaf; fhz;f. 

 

04) rpfu tbtpy; nrq;fw;fs; mike;J fhzg;gLk; mikg;nghd;wpy; mbg;gFjpapy; (1k; mLf;fpy;); 133 

nrq;fw;fSk;> mjw;F Nkyhf (2k; mLf;fpy;); 127 nrq;fw;fSk;> mjw;F Nkyhf (3k; mLf;fpy;); 121 

nrq;fw;fSkhf njhlHe;J mLf;fg;gl;L cr;rpapy; xU nrq;fy;Yk; fhzg;gLfpd;wJ.  

  

 i. ,r;nrq;fw;fs; mike;J fhzg;gLk; tpUj;jp vtt;if tpUj;jpahFk;?   
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ii. ,r;rpfu mikg;gpy; 10tJ mLf;fpy; vj;jid nrq;fw;fs; fhzg;gLfpd;wd?   

iii. mbapypUe;J Kjy; 10 mLf;Ffspy; fhzg;gLk; nrq;fw;fspd; vz;zpf;if ahJ?  

iv. ,t;tikg;gpy; vj;jid mLf;Ffs; fhzg;gLfpdw;d?      

v. ,r;rpfu mikg;gpy; fhzg;gLk; nrq;fw;fspd; nkhj;j vz;zpf;if ahJ? 

 

05) y = x2 – 5 vDk; rhh;gpid tiutjw;F éuzkw;w ml;ltiz fPNo jug;gl;Ls;sJ.  

y -3 -2 -1 0 1 2 3 

x 4 -1 …… -5 ……. -1 4 

 

i)  ntw;wplq;fis epug;gf.  

ii)  x mr;R > y mr;R topNa 10 rJuq;fis Xh; myfhff; nfhz;L rhh;ig tiuf.  

iii) rkr;rPh; mr;rpd; rkd;ghl;il vOJf.  

iv) jpUk;gw; Gs;spad; Ms;$iw vOJf.  

v) x2 – 5 = 0 ,d; %yfq;fisf; fhz;f.  

06)  &. 150 000 ngWkjpahd ,ae;jpuj;ij ,wf;Fkjp nra;Ak; NghJ 40%  Rq;fthp 
mwtplg;gLfpd;wJ.  
i)  nrYj;j Ntz;ba Rq;f thp vt;tsT?  
ii) Rq;fthp nrYj;jpa gpd; mjd; ngWkjp ahJ? 
 
07)  Mz;Lg; ngWkhdk; &. 80 000 cila fl;llk; xd;wpw;F efu rigahy; fhyhz;L thpahf  
  &. 540 nrYj;jg;gl;LJ.  
i) nrYj;jg;gl;l Mz;L thpiaf; fhz;f. 
ii) efu rig mwtplg;gl;l Mz;L thp rjtPjk; ahJ? 

 
 
 
 

     08) i) fhuzpg;gLj;Jf. 3a2 + 5a -12 

      ii) jPh;f;f.        x2 -11x + 24 = 0 

     iii) jPh;f;f.          3x – y = 8 

    2x + 3y = 9 

 

             09)        a)    klf;if ml;ltiziag; gad;Lj;jhJ RUf;Ff. 

  i)   𝐥𝐨𝐠𝟐 𝟗 + 𝐥𝐨𝐠𝟐 𝟖 − 𝐥𝐨𝐠𝟐 𝟏𝟖              

            ii)   3 𝐥𝐨𝐠𝒂 𝟐 +
𝟏

𝟒
𝐥𝐨𝐠𝒂 𝟖𝟏 − 𝐥𝐨𝐠𝒂 𝟐𝟎 

            b)  klf;if ml;ltiziag; gad;Lj;jhJ 𝑥 ,d; ngWkhdj;ijf;fhz;f. 

  i)  𝐥𝐠𝐱 + 𝐥𝐠𝟐 = 𝐥𝐠𝟐𝟒  − 𝐥𝐠𝟒  

 ii)   𝟐𝐥𝐠𝐱 + 𝟑𝐥𝐠𝟐 = 𝐥𝐠𝟐𝟒  − 𝐥𝐠𝟐𝟕 

 



 

6 
 

    c) klf;if ml;ltizg; gad;gLj;jp RUf;Ff. 

 i) 
74.52 × 9.75

8.46
     ii) √0.0853

2.532
 ×  87..59 

 

10) xU jpz;kr; nrt;tl;l cNyhf cUisapd; mbapd; Miu r MfTk; cauk; 2r MFk;. 
 
(i)  cUisapd; fdtsit r ,d; rhh;gpy; jUf. 

(ii)  cUisapd; fdtstpd; ,Uklq;fhd fdtsT cs;s xU jpz;kr; nrt;tl;l $k;G mjd;  mbapd;   

Miu cUisapd; Miuf;Fr; rkkhf ,Uf;FkhW nra;ag;gl;LssJ. .$k;gpd; cauk;  h vdf; nfhz;L> 

h = 12r  vdf; fhl;Lf. 

(iii)  $k;gpd; fdtsT 1570 cm3  vdpd;  r3 = 
785

2𝜋
 cm3  vdf; fhl;Lf. 

    
11) xU g]; tz;bapy; gpuahzk; nra;j gazpfspd; vz;zpf;if 58 MFk;. rpyh; &.9 gazr; rPl;LlDk; 

VidNahh; &.15 gazr; rPl;LlDk; gazk; nra;jdh;. g]; tz;bapd; nkhj;j t#y; &.660 MFk;. 
 
(i) &.9 gazr; rPl;Lld; gazk; nra;j gazpfspd; vz;zpf;ifia x vdTk; &.15 gazr; rPl;Lld; gazk; 

nra;j gazpfspd; vz;zpf;ifia y vdTk; nfhz;L x, y  cs;slq;fpa xUq;fikr; rkd;ghl;Lr; Nrhbia 
cUthf;Ff. 

 

(ii) mr;rkd;ghl;Lr; Nrhbiaj; jPh;g;gjd; %yk; &.9 gazr; rPl;Lld; gazk; nra;j gazpfspd; 
vz;zpf;ifiaAk;> &.15 gazr; rPl;Lld; gazk; nra;j gazpfspd; vz;zpf;ifiaAk; fhz;f. 

 


